National & Mathematics APP 1-1 Rig@ur Maths

Outcome 3 - The Cosine Rule

Bronze example Silver example Gold example

P

Examples... Examples... B4+ 47= 131 Examples...
180 -131= 49
Find the Find the Calculate the
length of length of size of the
the missing x the missing missing angle...
side... side...
: : + Substitute 26m
+  Substitute +  Substitute ;
into formula... into formula... info formula...

+ Evaluate.. + SquareRoot.. + Evaluate.. + SquareRoot.. * Evaluate.. *  Inverse cosine..
x?= 197+ 24%-2 x19x 24 x cos 46 x? = 28%+36%-2 x 28 x 35 x cos 49 cos x = 172+ 26% - 21° - 0-6927..

) 2 2x17x 26
x* =3034715.. x* =7231243..

x =v303:4715.. =17-42m x =+/7231243.. = 26-89m x = cos "} 0-5927.=53-65°
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Bronze Questions T Silver Questions 1]
Find the missing sides in the following triangles... ,é;/ Find the missing sides in the following triangles... é/
A xcm 19m 1 xcm 24m

- 17 m « = <ese 26'm
22cm 28 em xm h 56 cm 60 cm xm 007
- X mm S xcm 28 cm had X mm ‘g xcm_g3o\57 cm
53° 7
34 mm\ 853/ 36 mm 44 mm 41 mm 34°
55 cm 78 cm
= X mm & 76m é X mm o 20m
42 mm 88 m 24° 94°\ ¢4 o 80° 28'm
64 mm 44°
xm 75 mm xm
Gold Questions

Find the missing angles in the following triangles...

A

, 2é6cm 14m
» - 12m
24 cm 30cm 15 m
=9 40 mm .& 41 cm 32cm
b a2 =b%+c?-2bccos A
x W Takea
33 mm ' 31mm 53 om .\\ Notel **Two sides and
an included angle™*
=1 53 mm & 79m

84 m 24 02 g2
41 mm \«\ cosA = b-l-cha
65 mm 87 m @ **3 cides™™ ¢
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Bronze Answers

1. 14-56 cm
3. 47-31 mm
b. b4-15 mm

Silver Answers

1. b6-3becm
3. B0-62 mm
B. B0-86 mm

Gold Answers

1. B56-25°
3. 77-29°
5. b4-48°
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14-76 m

44-22 cm

86-:30m

2199 m
63-10 cm

23-62m

69-99°
50-62°
64-43°

Rig@ur Maths

© Cdmasterworks Ltd 2012



